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Name Class Date

Practice EorrlE

9-2

Find the equation of the axis of symmetry and the coordinates of the vertex of the
graph of each function.

1.y=4x2—2 2.y=—x2+4x—6 3.y=x2+4x+5
4 y=x"'-8x+12 5. y=-6x"+3 6. y=-3x"+12x—7
7. y=2"+x-14 8. y=—6x—8x+ 10 9. y=-2x+3x+6

on $ .
Graph each functionI\Labe the axis of symmetry and the vertex.
10. F(x)=x*—2x — 1 M. f(x)=-2x"+8x— 10 12.f(x)=2x*~ 12x + 19

13. f(x) = —3x* — 6x — 8 14. f(x)=2x"+2x + 1 15.f(x) =—2x* + 12x -2

16. A punter kicked the football into the air with an upward veloc1ty of 62 fi/s. Its
height 4 in feet after ¢ seconds is given by the function k = —161* + 62 + 2.
What is the maximum height the ball reaches? How long will it take the
football to reach the maximum height? How long does it take for the ball to hit
the ground?

17. A disc is thrown into the air with an upward velocity of 20 ft/s. Its height /4 in feet
after ¢ seconds is given by the function & = —16£ + 20t + 6. What is the
maximum height the disc reaches? How long will it take the disc to reach the
maximum height? How long does it take for the disc to be caught 3 feet off the
ground?

Prentice Hall Algebra 1 ¢ Teaching Resources
Copyright © by Pearson Education, Inc., or its affiliates. All Rights Reserved

13



Name Class Date
9 2 Practice (continued) Form G
Graph c.u. h ro f
fu nctmnAL'i'aelqhe axis of symmetry and the vertex.
3 -~ _ _ ‘_\ _ 112 -
fx) = ¥ +6x+ 2 o F(x) —gx +8x+ 5 50 F(x) = ¥ +ax - 10

21.

Open-Ended For Exercises 24-26, give an example of a quadratic function with

1
SR =3P -1t sy = R eame s, SO

22,

Stig

the given characteristic(s).

24,

25.

26.

27.

28.

Its graph opens up and has its vertex at (0, —3).

Its graph lies entirely below the x-axis.

Its vertex lies on the x-axis and the graph opens down.

A fountain that is 5 feet tall sprays water into the air with an upward velocity of
22 ft/s. What function gives the height # of the water in feet ¢ seconds after it is

sprayed upward? What is the maximum height of the water?

-4x+ 1

Y
The parabola shown at the right is of the form a
y=ax’+bx +c. i
a. What is the y-intercept? \ f' B3
b. What is the axis of symmetry? =4 {2 [o[J [ 7 i
-b -2
c. Use the formula x = — to find 5. !
z \:fa
l

d. What is the equation of the parabola?
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9_2 Practice Form G §

Quadratic Functions

Name U-é/- Class Date

Find the equation of the axis of symmetry and the coordinates of the vertex of
the graph of each function.

TLy=4 -2 2.y=-2+4x—6 3.y=x+4x+5
0, -2); x=0 (2, -2); x=2 (=2, 1); x = -2
— et
4. y=2x2—8x+ 12 5. y=—6x2+3 6.y =32+ 12x— 7
(4,-4); x=4 (0.3: x=0 (2,5); x=2
_\
7.y=22+x— 14 8. y=—6x> — 8x + 10 9.y=-2x>+3x+6
(1 1, o 1 C 2 2\. . _ 2 '3 51V, L _ 3
(~—-4--, —14g)ix=—3 (—g, 12§>, X=-3 (3. 7§/). x=3
e _— -—a ——— ey

—
Graph each function. Label the axis of symmetry and the vertex.

10. f(x) =x*>—2x — 1 M. f(x) = —2x* + 8x — 10 12. f(x) = 2x%> — 12x + 19

|38 ‘ | |8
| Esiam
e 1 Rt ||

R HESEpNeErIe
14. f(x) =222 +2x + 1 15. f(x) = =222 + 12x — 2

03 u:.'.&; |

;r 16./A punter kicked the football into the air with an upward velocity of 62 ft/s. Its
P height % in feet after ¢seconds is given by the function b = —16¢2 + 62¢ + 2.
What is the maximum height the ball reaches? How long will it take the
football to reach the maximum height? How long does it take for the ball to hit
the ground?

62.06 ft; 1.94 s; about 3.91 s

. T -

)
17.°A disc is thrown into the air with an upward velocity of 20 ft/s. Its height h in
‘feet after tseconds is given by the function z = —1612 + 20t + 6. What is the
maximum height the disc reaches? How long will it take the disc to reach the
maximum height? How long does it take for the disc to be caught 3 feet off the
ground?
12.25 {t; 0.625 5; 1.385 s
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Class

Date

Practice {continued)

Form G

9-2

Quadratic Functions

Graph each function. Label the axis of symmetry and the vertex.

Sx% + 6x + 2

19. f(x) =%x2 +8x +5

8"'s|

0 R
22. f(x) = —%—_xz__f__zx +3
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20. f(x) = ;2% + 4x — 10
If * +f
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Open-Ended For Exercises 24-26, give an example of a quadratic function with

the given characteristic(s).

24. Tts graph opens up and has its vertex at (0, —3).

Answers may vary. Sample: y = xt -3

25. Its graph lies entirely below the x-axis.

Answers may vary. Sampie: y = ~x2 -2

26. Its vertex lies on the x-axis and the graph opens down.

'__n__Answers may vary. Sample: y = —35x

27, \J.f-{ fountain that is 5 feet tall sprays water into the air with an upward velocity of
22 ft/s. What function gives the height h of the water in feet £ seconds after it is

sprayed upward? What is the maximum height of the water?
h = —168 + 22t + 5; 12.6 ft

28. The parabola shown at the right is of the form
y = ax®> + bx + c.

a. What is the y-intercept? —2
b. What is the axis of symmetry? x = —1

—

¢. Use the formula x = % tofindb. b=14
-

d. What is the equation of the parabola? y = 2x? + 4x — 2

w | I |
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